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M.D. SENIOR SECONDRY SCHOOL-MANKROLA(GRG)
HOMEWORK FILE
CLASS-VIII
SUBJECT-ENGLISH
DATED-27-07-20

Write and Learn these questions-answers

1. Describe the scene that the writer witness in the garden at Jaldarshan early in the
morning.

Ans- The scene included, a sheer rock face, lantana bushes looked like a sanctuary,
sunbirds, tailor birds, magpie robins, koels, sparrow, crows, rose-ringed parakeets and
pigeons. In winter warblers and gulls, a shikra picking up a sparrow in a puff of feathers,
people trees and ber trees are also shown there.

2. When did the trees swarm with life? How
Ans-In the winter season the trees and wild plant feed a variety of life forms like swarms.
3. Describe whether he is happy about people being glued to their television.

Ans-He was not happy about people being glued to their television because they are not
getting enjoy with the nature in watching butterflies, beetles, spiders, grasshoppers, ants
etc. like him.

4. Why is he not ever bored in Mumbai?

Ans-He was not bored because there were much thing to spend his hours in watching them
to do enjoy.

5. What is the lifelong regret? Why?

Ans-The lifelong regret for him that he had not much knowledge about Botany. So he could
not understood and explained about these things.
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HOME ASSIGNMENT OF 8™ CLASS MATHS DATE: 28.07.2020
CHAPTER-3  [SQUARES AND SQUARE ROOTS] ASSIGNMENT - 3.2

Do the following in your fair notebook .

2. Find the square root (by factorisation method) of the following numbers :

() 25 (i) 729 (iZi) 196 (iv) 324 () 169
(rz) BZ81 (viz) 4225 (wiii) 2704 (zx) 14400
3. Find the square root of the following numbers by long division method :
(i) 53361 (i) 998001 (zzi) 21025 (i) 194481
(w) 43264 (wi) 4937284 (vzi) HT71536
4. Find the value of :
(i) ~fT5T724804 (ii) +/ 36663025 (iii) /54007801
(iv) +/146894400 () /4036081
5. Find the square roots of the following rational numbers :
. 9 .. 831 . 1 - 7
e - oL b 2 e
() 25 (Zz) 295 (fzz) 3 i6 (Zrr) o
o wi) 227 (wii) 7=
169 121 9

SOLUTION OF THESE QUESTIONS :-

2. () 5 25
5 5
Thus, 256 =5 =< 5 1
Now, Jor = :':'n- -
(L) 3 T29 (Evr) 2 324
3 243 2 162
3 81 3 51
3 27 3 27
3 9 3 9
3 3 3 3
1 1

TQBZ?X_L?X?X_L_*X?X_:.} 324 = 2x 2 x3x3x3x3

Now, 729 =3 x 3 x 3 = 27.

sy Now, +/324 =2 x3 x 3 =18.
(zir

_2 | 196 () 13 | 169
2 | 98 13 13
7 1 49 1
7 7
1 169 = 13 = 13
= 196 = 2 = 2 x T = 7T ' =3
= — Now, +/169 = 13.
Now, +f/196 =2 = T =14.
(vi) 7 | 8281
= - : 7 1183
P = i 7 =13 = 13
Thus, /5281 = |/ 7% 7 x 13 x L 13 169
=7T=x13 =91 13 13
Hence, the square root of 8281 is =
given by /8281 = 91.
wit)
k 5 4225
H 545
13 169
Thus, 4225 = 5 x5 = 13 x 13 13 13
L ] L -
Now, /4225 =5 x 13 = 65. L



(eedn) = b
2 1352
2 G676
2 338
s 13 169
Thus, 2704 = 2 w« 2 x 2 x 2 = 13 13
- -}f_l = = -K_J o4 ne '!-li- = 13 13
MNow, V2704 =2 x 2 x 13 = 52 1
(ix) 2 | 14400
2 T200
2 3600
2 1800
2 SO0
2 450
Thus, 14400 = 2 = 2 x 2 x 2 = 2 = 2 = e
R——— | | | ——t 5 45
w o B ox F w3 3 o
e | | il
14400 — 2 % 2 =2 x 5 x 3 3 3
= 120, 1
3- {L} 3 1 {LELJ 145
2 E3361 1 21025
4 — 1
43 133 =4 110
— 129 — 96
461 461 =85 1425
— 461 — 1425
0 0
S JBE3361 = 2% B 21025 — 145
(Z£) 999 (Zer) o
9 o909 80 01 4 194481
— 81 —16
180 1880 B4 344
— 1701 - 236
1989 17901 881 85881
— 17901 —881
0 0
e SOOS001 = 999 194451 — 447
(o) 08 (erdd) 756
> 4 326 4 7 57 15 36
— < —_ D
ADE 3 26 4 145 =
— 3264 ’ 228
o 1506 O3
VABZE6A — 208 _ — 9036
Cered 222 O
= _ EESEao Hence, V571536 — 756 .
az= 93
_ =4
442 o972
— 8554
4442 sS554
— Ba54
Ly
Henoe:, the sqguaare ool
of 4937284 is 2220
fe.. [fa937284 — ===,




NOTE

We carn find the squarev-roots of the given numbers of Q. 4
by wither long division method” or “factorisation method’.
Howewver, finding the Square-root of bigger numbers by the
long divisiorn method is casicr and less Lime consirning.

i) SB702
s 76724804
— 6 4
167 1172
1 18D
1740 348
— 000
17402 34804
—-34804
o0
(gee) 7349
v 54007801
— 49
143 500
—d4 29
1464 7178
—H 856
14689 132201
—132201
i ]
S 54007801 = 7349
(o) 2009
2 4036081
—4
4009 36081
36081
0

40360581 = 2009

(£8)

6055
6 366630256
-~ 36

1205 6630

- 6025
12105 60525
- 60525

'

V36663025 - 6055

(rer)

12120
1 146894400
—1
2R 46
44
241 289
_ 241
2429 4844
—4 844
)

S 146894400 = 12120

D9 9

G8) \}3.35 _Jlﬁrlﬁ 15

L] =3 3
5- “a — — —
@ JEE JE::-:E 5
i) J J.,=J49= Tx7 7 _43
16 16 4xd4 4 4
: | 7 ]|£5 AxbH 5 2
V'8 "\ o J:;x:] 3 &
@ Jl_ﬂ? _ jBE_ [16x16 _16_, 3
169 Y169 13x13 13 13
. 47 289 17x17 _ 17 G
{wE) s — - s [ty
121 121 11 =11 T 11 11




